## NEW INEQUALITIES FOR MEANS

Š. ARSLANAGIĆ AND M. BENCZE

Dedicated to Professor Fikret Vajzović on the occasion of his 80th birthday

ABSTRACT. In this paper we present new inequalities for means. If

$$0 < a < b, \ A(a,b) = \frac{a+b}{2}, \ G(a,b) = \sqrt{ab}, \ H(a,b) = \frac{2ab}{a+b},$$
$$L(a,b) = \frac{b-a}{\ln b - \ln a}, \ I(a,b) = \frac{1}{e} \left(\frac{b^b}{a^a}\right)^{\frac{1}{b-a}},$$

we will prove seven new theorems concerning these means.

## 1. INTRODUCTION

For x, y > 0  $(x \neq y)$  the following well known inequality holds clearly:

$$H(x,y) < G(x,y) < L(x,y) < I(x,y) < A(x,y),$$

where A(x,y), G(x,y) and H(x,y) are the arithmetic, geometric and harmonic means of two positive numbers x, y respectively, and L(x, y), I(x, y)are special cases of the generalized logarithmic mean  $L_r(x, y)$  of two positive numbers x and y, i.e.

- (1)  $L_r(x,y) = \left(\frac{y^{r+1}-x^{r+1}}{(r+1)(y-x)}\right)^{\frac{1}{r}}, r \neq -1, 0;$ (2)  $L_{-1}(x,y) = \frac{y-x}{\ln y \ln x} = L(x,y);$
- (3)  $L_0(x,y) = \frac{1}{e} \left(\frac{y^y}{x^x}\right)^{\frac{1}{y-x}} = I(x,y).$

L(x, y) and I(x, y) are respectively called the logarithmic and exponential mean of two positive numbers x and y. When  $x \neq y, L_r(x, y)$  is a strictly increasing function of  $r \in (-\infty, +\infty)$ . In particular,  $\lim_{r\to -\infty} L_r(x, y) =$  $\min\{x, y\}, \lim_{r \to +\infty} L_r(x, y) = \max\{x, y\}$ 

<sup>2000</sup> Mathematics Subject Classification. 26A48, 26D20.

Key words and phrases. Arithmetic, geometric, harmonic and logarithmic mean, inequalities between means, convex and concave function, power-mean and Hadamard's inequality.

2. New results

**Theorem 1.** If 0 < a < b,  $A(a,b) = \frac{a+b}{2}$ ,  $G(a,b) = \sqrt{ab}$ ,  $H(a,b) = \frac{2ab}{a+b}$ ,  $L(a,b) = \frac{b-a}{\ln b - \ln a}$  and  $I(a,b) = \frac{1}{e} \left(\frac{b^b}{a^a}\right)^{\frac{1}{b-a}}$ , then the following inequalities hold.

$$\frac{2L}{I+G} < \frac{A-L}{I-G} < \frac{L}{\sqrt{GI}}$$
(A)

and

$$\left(\frac{I}{G}\right)^{\frac{2L}{A+L}} < \frac{A}{L} < \left(\frac{I}{G}\right)^{\sqrt{\frac{L}{A}}}.$$
 (B)

Proof. We have

$$\ln I = \frac{a \ln a - b \ln b}{a - b} - 1 = \frac{a}{L} + \ln b - 1,$$

therefore

$$\ln \frac{I}{b} = \frac{a}{L} - 1$$
 and  $\ln \frac{I}{a} = \frac{b}{L} - 1$ ,

and from here

$$\ln \frac{I}{G} = \frac{A}{L} - 1. \tag{1}$$

1. If x > 1, then we have (See 3.6.18, page 273, using  $1 + \frac{1}{x} = t$  in [7]):

$$\frac{2(x-1)}{x+1} < \ln x < \frac{x-1}{\sqrt{x}}.$$
 (2)

In (2) we take  $x = \frac{I}{G}$ , then we have

$$\frac{2\left(\frac{I}{G}-1\right)}{\frac{I}{G}+1} < \ln\frac{I}{G} < \frac{\frac{I}{G}-1}{\sqrt{\frac{I}{G}}}$$

or from (1)

$$\frac{2(I-G)}{I+G} < \frac{A}{L} - 1 < \frac{I-G}{\sqrt{IG}}\,,$$

and finally

$$\frac{2L}{I+G} < \frac{A-L}{I-G} < \frac{L}{\sqrt{GI}} \,,$$

and this is the inequality (A).

2. In (2) we take  $x = \frac{A}{L}$ , therefore

$$\frac{2\left(\frac{A}{L}-1\right)}{\frac{A}{L}+1} < \ln\frac{A}{L} < \frac{\frac{A}{L}-1}{\sqrt{\frac{A}{L}}}.$$

40

Using (1), we obtain

$$\frac{2\ln\frac{I}{G}}{\frac{A}{L}+1} < \ln\frac{A}{L} < \frac{\ln\frac{I}{G}}{\sqrt{\frac{A}{L}}}$$

or

$$\left(\frac{I}{G}\right)^{\frac{2L}{A+L}} < \frac{A}{L} < \left(\frac{I}{G}\right)^{\sqrt{\frac{L}{A}}}$$

and this is the inequality (B).

**Theorem 2.** The following inequalities

$$\frac{(A-L)G}{(I-G)L} < \frac{G + \sqrt[3]{IG^2}}{I + \sqrt[3]{IG^2}}$$
(C)

and

$$\left(\frac{A}{L}\right)^{A+\sqrt[3]{AL^2}} < \left(\frac{I}{G}\right)^{L+\sqrt[3]{AL^2}} \tag{D}$$

hold.

*Proof.* If x > 1, then we have (See 3.6.16, page 272 in [7]):

$$\frac{\ln x}{x-1} < \frac{1+\sqrt[3]{x}}{x+\sqrt[3]{x}}.$$
(3)

1. In (3) we take  $x = \frac{I}{G}$ , then

$$\frac{\ln \frac{I}{G}}{\frac{I}{G}-1} < \frac{1+\sqrt[3]{\frac{I}{G}}}{\frac{I}{G}+\sqrt[3]{\frac{I}{G}}}$$

but using (1), we have

$$\frac{\frac{A}{L}-1}{\frac{I}{G}-1} < \frac{1+\sqrt[3]{\frac{I}{G}}}{\frac{I}{G}+\sqrt[3]{\frac{I}{G}}}$$

or

$$\frac{(A-L)G}{(I-G)L} < \frac{G+\sqrt[3]{IG^2}}{I+\sqrt[3]{IG^2}}$$

i.e. the inequality (C) is proved.

2. In (3) we take  $x = \frac{A}{L}$ , then

$$\frac{\ln \frac{A}{L}}{\frac{A}{L}-1} < \frac{1+\sqrt[3]{\frac{A}{L}}}{\frac{A}{L}+\sqrt[3]{\frac{A}{L}}},$$

but from (1) we have

$$\frac{\ln \frac{A}{L}}{\ln \frac{I}{G}} < \frac{1 + \sqrt[3]{\frac{A}{L}}}{\frac{A}{L} + \sqrt[3]{\frac{A}{L}}}$$

or

$$\left(\frac{A}{L}\right)^{A+\sqrt[3]{AL^2}} < \left(\frac{I}{G}\right)^{L+\sqrt[3]{AL^2}},$$
 i.e. inequality (D) is proved.

**Theorem 3.** The following inequalities

$$H^{L-G}L^{H-G} \le G^{H+L-2G},\tag{E}$$

$$G^{I-L}I^{G-L} \le L^{G+I-2L},\tag{F}$$

$$L^{A-I}A^{L-I} \le I^{L+A-2I} \tag{G}$$

hold.

*Proof.* If  $0 < a \le x \le b$ , then

$$a^{b-x}b^{a-x} \le x^{a+b-2x}.$$
(4)

If  $f(x) = (a + b - 2x) \ln x - (b - x) \ln a - (a - x) \ln b$ , then

$$f'(x) = -2\ln x + \frac{a+b}{x} - 2 + \ln a + \ln b$$

and

$$f''(x) = -\frac{2}{x} - \frac{a+b}{x} < 0$$
  

$$\Rightarrow f \text{ is concave}$$
  

$$\Rightarrow f(x) \ge \min\{f(a), f(b)\} = 0$$

In (4) we take  $(a, x, b) \in \{(H, G, L), (G, L, I), (L, I, A)\}$  and because  $H \leq G \leq L \leq I \leq A$  we get the inequalities (E), (F) and (G).

**Theorem 4.** If  $f, g: (0, +\infty) \mapsto (0, +\infty)$  are monotonic functions in the same sense, f is convex and g is concave, then the inequalities

$$\frac{f(L) - f(G)}{f(I) - f(G)} \le \frac{L - G}{I - G} \le \frac{g(L) - g(G)}{g(I) - g(G)}$$
(H)

and

$$\frac{f(I) - f(L)}{f(A) - f(L)} \le \frac{I - L}{A - L} \le \frac{g(I) - g(L)}{g(A) - g(L)}$$
(I)

hold.

42

*Proof.* Because f is convex, we get that

$$\begin{vmatrix} x_1 & f(x_1) & 1 \\ x_2 & f(x_2) & 1 \\ x_3 & f(x_3) & 1 \end{vmatrix} \ge 0$$

for  $x_1 \leq x_2 \leq x_3$ . This is equivalent with

$$\frac{f(x_2) - f(x_1)}{f(x_3) - f(x_1)} \le \frac{x_2 - x_1}{x_3 - x_1} \,. \tag{5}$$

Function g is concave and we get that

$$\begin{vmatrix} x_1 & g(x_1) & 1 \\ x_2 & g(x_2) & 1 \\ x_3 & g(x_3) & 1 \end{vmatrix} \le 0$$

for  $x_1 \leq x_2 \leq x_3$ . This is equivalent to

$$\frac{g(x_2) - g(x_1)}{g(x_3) - g(x_1)} \ge \frac{x_2 - x_1}{x_3 - x_1}.$$
(6)

It follows from (5) and (6):

$$\frac{f(x_2) - f(x_1)}{f(x_3) - f(x_1)} \le \frac{x_2 - x_1}{x_3 - x_1} \le \frac{g(x_2) - g(x_1)}{g(x_3) - g(x_1)}.$$
(7)

1. In (7) we take  $x_1 = G, x_2 = L$  and  $x_3 = I$  and we obtain the inequality (H).

2. In (7) we take  $x_1 = L, x_2 = I$  and  $x_3 = A$  and we obtain the inequality (I).

**Theorem 5.** The following inequalities

$$\sum_{k=0}^{n-1} \frac{1}{(k+1)I + (n-k-1)G} < \frac{A-L}{L(I-G)} < \sum_{k=0}^{n-1} \frac{1}{kI + (n-k)G}$$
(J)

and

$$\left(\frac{I}{G}\right)^{\alpha} < \frac{A}{L} < \left(\frac{I}{G}\right)^{\beta},\tag{K}$$

where

$$\alpha = L \sum_{k=0}^{n-1} \frac{1}{(k+1)A + (n-k-1)L}$$

and

$$\beta = L \sum_{k=0}^{n-1} \frac{1}{kA + (n-k)L}$$

hold.

*Proof.* If x > 1, then we have

$$(x-1)\sum_{k=0}^{n-1}\frac{1}{n+(k+1)(x-1)} < \ln x < (x-1)\sum_{k=0}^{n-1}\frac{1}{n+k(x-1)}.$$
 (8)

(See 3.6.23, page 276 in [7]). 1. If in (8) we take  $x = \frac{I}{G}$  and using (1), then we obtain the inequality (J).

2. If in (8) we take  $x = \frac{A}{L}$  and using (1)  $(x - 1) = \frac{A}{L} - 1 = \ln \frac{I}{G}$ ), then we obtain the inequality (K).

Theorem 6. The following inequalities

$$\frac{2cL}{I+G} < \frac{A-L}{I-G} < \frac{2dL}{I+G}$$
(L)

where

$$\begin{split} c &= 1 + \frac{(I-G)^2}{12IG} - \frac{(I^3 - G^3)(I-G)^3}{360I^3G^3} \,, \\ d &= 1 + \frac{(I-G)^2}{12IG} - \frac{(I^3 - G^3)(I-G)^3}{(360+\varepsilon)I^3G^3} \,, \\ \varepsilon &= \frac{30 + (I^2 + 5GI + G^2)(I-G)^2}{I^2G^2} \,, \end{split}$$

and

$$\left(\frac{I}{G}\right)^{\frac{2\alpha L}{A+L}} < \frac{A}{L} < \left(\frac{I}{G}\right)^{\frac{2\beta L}{A+L}} \tag{M}$$

where

$$\begin{split} \alpha &= 1 + \frac{(A-L)^2}{12AL} - \frac{(A^3-L^3)(A-L)^3}{360A^3L^3} \,, \\ \beta &= 1 + \frac{(A-L)^2}{12AL} - \frac{(A^3-L^3)(A-L)^3}{(360+\gamma)A^3L^3} \,, \\ \gamma &= 30 \left(1 + \frac{5L}{A} + \frac{L^2}{A^2}\right) \end{split}$$

hold.

*Proof.* If x > 1, then we have

$$\frac{2(x-1)}{x+1} \left( 1 + \frac{x-1}{12} - \frac{x-1}{12x} - \frac{(x-1)^3}{360} + \frac{(x-1)^3}{360x^3} \right) < \ln x$$
$$< \frac{2(x-1)}{x+1} \left( 1 + \frac{x-1}{12} - \frac{x-1}{12x} - \frac{(x-1)^3}{360+u} + \frac{(x-1)^3}{(360+u)x^3} \right), \quad (9)$$

44

where  $u = 30\left(1 + \frac{5}{x} + \frac{1}{x^2}\right)$ . (See 3.6.19, page 274, using  $1 + \frac{1}{x} = t$  in [7]). 1. In (9) we take  $x = \frac{I}{G}$  and using (1) we obtain the desired inequalities

(L). 2. In (9) we take  $x = \frac{A}{L}$  and using (1) we obtain the desired inequalities (M), because

$$\frac{2(x-1)}{x+1} = \frac{2(\frac{A}{L}-1)}{\frac{A}{L}+1} = \frac{2\ln\frac{I}{G}}{\frac{A}{L}+1}, \text{ etc.}$$

**Theorem 7.** The following inequality

$$L(a,b) < L(\frac{a+b}{2},\sqrt{ab}) < \left(A(\sqrt{a},\sqrt{b})\right)^2 < A(a,b)$$
(N)

holds.

*Proof.* The inequality  $(A(\sqrt{a},\sqrt{b}))^2 < A(a,b)$  is simply the Power-Mean Inequality. Applying the Hadamard's Inequality to the convex function  $f(x) = \frac{1}{x}$ , we get

$$\frac{1}{L\left(\frac{1}{2}(a+b),\sqrt{ab}\right)} = \frac{1}{\frac{1}{2}(a+b) - \sqrt{ab}} \int_{\sqrt{ab}}^{\frac{1}{2}(a+b)} f(x)dx$$
$$> f\left(\frac{\frac{1}{2}(a+b) + \sqrt{ab}}{2}\right) = \frac{1}{\left(A(\sqrt{a},\sqrt{b})\right)^2}.$$

This gives the inequality  $L(\frac{a+b}{2}, \sqrt{ab}) < (A(\sqrt{a}, \sqrt{b}))^2$ . The inequality  $L(a, b) < L(\frac{a+b}{2}, \sqrt{ab})$  transforms successively into

$$(b-a)\ln\left(\frac{1}{2}(a+b)\right) < (\sqrt{ab}-a)\ln a + (b-\sqrt{ab})\ln b,$$

$$\left(\frac{1}{2}(a+b)\right)^{\sqrt{a}+\sqrt{b}} < a^{\sqrt{a}}b^{\sqrt{b}},$$

$$\frac{\left(\frac{1}{2}(a+b)\right)^{\sqrt{a}+\sqrt{b}}}{a^{\sqrt{a}}b^{\sqrt{b}}} < 1,$$

$$\left(\frac{1}{2}\left(a+b\right)^{\sqrt{a}}\right)^{\sqrt{a}}\left(\frac{1}{2}(a+b)^{\sqrt{b}}\right)^{\sqrt{b}} < 1,$$

$$\left(\frac{1}{2}\left(1+\frac{b}{a}\right)^{\sqrt{a}}\left(\frac{1}{2}\left(1+\frac{a}{b}\right)^{\sqrt{b}} < 1,$$

$$\frac{1}{2}\left(1+\frac{b}{a}\right)\left(\frac{1}{2}\left(1+\frac{a}{b}\right)\right)^{\sqrt{\frac{b}{a}}} < 1,$$
$$\frac{1}{2}(1+x^2)\left(\frac{x^2+1}{2x^2}\right)^x < 1,$$

with  $x = \sqrt{\frac{b}{a}} > 1$  (because b > a). Now, for x > 1, let

$$f(x) = \ln\left(\frac{1}{2}(1+x^2)\right) + x\ln\left(\frac{x^2+1}{2x^2}\right).$$

Then

$$f'(x) = \frac{2(x-1)}{x^2+1} + \ln\left(\frac{x^2+1}{2x^2}\right)$$

and

$$f''(x) = \frac{-2(x-1)^2(x+1)}{x(x^2+1)^2} < 0.$$

Hence f is strictly concave. Since f(1) = 0 and f'(1) = 0, we conclude that f(x) < 0. Therefore, the given inequality (N) is true.

## References

- [1] E. F. Beckenbach and R. Bellman, *Inequalities*, Springer-Verlag, 1961.
- [2] M. Bencze, New means, new inequalities and refinements, Octogon Math. Mag., 9 (1A) (2001), 46–104.
- [3] M. Bencze, New inequalities for means, Octogon Math. Mag., 13 (1A) (2005), 191– 192.
- [4] M. Bencze and L. Zhou, Problem 3097., Crux Mathematicorum with Mathematical Mayhem, 32 (8) (2006), 531–532.
- [5] P. S. Bullen, D. S. Mitrinović and P. M. Vasić, *Means and Their Inequalities*, Reidel, Dordrecht, 1988.
- [6] G. H. Hardy, J. E. Littlewood and G. Pólya, *Inequalities*, Cambridge, At the University Press, 1952.
- [7] D. S. Mitrinović, Analytic Inequalities, Springer-Verlag, Berlin-Heidelberg-New York, 1970.

(Received: August 31, 20067)

Š. Arslanagić
University of Sarajevo
Faculty of Natural Sciences and Mathematics
Department of Mathematics
Zmaja od Bosne 35
71000 Sarajevo
Bosnia and Herzegovina
E-mail: asefket@pmf.unsa.ba

M. Bencze Str Harmanului 6 505600 Sacele Jud. Brasov Romania E-mail: benczemihaly@yahoo.com